Chemistry 1410 Spring 2005
Quiz 3, Section 2, 20 pis
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1. Caleulate the pH of the following solutions.
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bY{3) If 5.2 grams of KOH is dissolved in enough water to create a total solution

volume of 600 mL.
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2.(2) Identify the acid-base conjugate pairs in the following reaction.

Y Ca Ty
11O + CITNTI; CH;NH{ ~ LUy
P;d!rt A Lt.k
| _.--"'"H

3. The K, value for aceteylsalicylic acid {aspirin) is 3.0 x 10,
(2)  2) The pH of a2 0.50 M solution of acetylsalicylic acid {(HA) is

A. (reater than 7
(ﬁ'}- Less than 7
C. Equalto7
D). Insuificient information to predict.



(4}  b) Calculate the pH of a 0.50 M solution of acerylsalicylic acid.

- A . Ldbdd ¥ o
I oSO o o e 2 _'__""'J”- (—)EEJ = o X
‘ —,; 4 K + CHA) O-50-X
E oseex % P | K ¥ LS
TR
10 Vio - &S
L0 e add L TGk =
55D ‘li— ULD'SG}LE'QKID - DG&&
5oy LL OS50

v Lut) o O
M -foa (oo = VA

4.(2) The pH of a .50 M sclution of sodium acetylsalicylate (NaA) is

@ Greater than 7

B. Less than 7

C. Equalto 7

D. Tnsufficient information to pre.dmt

/ {c:-r* df&,ﬂ.}* b‘-“-i ,_,rr

(4) b)) Calculate the pH ol a (.50 M solution of sodium acetylsalicylate. 2 ﬂ\lf,‘r\‘ H\l L»]r.'l-'u a Lk[l’
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